g a9 Qo] AAECNA R -1 o S T

sh?

@)0.5cm @ 1lcm ® 1.5cm

@ 2cm ® 2.5cm

® 1
i =2naxX — 360° =2nr, r = ga’
60° 1
lp =2 3 =27R, R =
= 2n(a-+3) X o~ 9nR, R= H(a+9)

1 1
“R-r==(a+3)--a=-

59 = 3w




2. the 293 2ol S0l Wl YAEG 9] Bl g Fajolat

i

A2 4
oA
L

2947 cm?

7 x 5% x 14 — 7 x 22 X 14 = 3507 — 567 = 2947(cm?)




3. Z¥ol7k 100mem? o] 1 Wrle] 2 52| Fol7k 10em A 97150

@ 1lem @ 2cm ® 3cm @®)}5cm ® Tem

B ~
A7) EolE h et & o,

EHE] Yol x 52 = 257,

UHO] ElE rx5x%x 2= 10r,

24ol=

(257 % 2) 4+ 107 X h = 1007 107 X h = 501

oo h=5(cm)




@ 12rcm® @ 64mcm? @847rcm3

@ 96mcm? ® 144ncm?

1 1
VZ§7TX62X8—§7TX32X4=847T(CH13)




5. A%wAe] 2¥olt 150am? & W, & DA o] Yol Fstelet,

= cm

>
D> ®gt:

S5 . Scm

gt B2 o] AolE x 2kl o} 6 x (x X x) = 150, x = 5(cm)
o,




6.

oS g3k Zro] o] B9 Y759 27} 64rem’ A o], o]

e

—6cm—|

——10cm—

w

96 cm®

vV V¥
0x
i

B ~
A715Y EolE h, A7 FHE V, 975 2UHolES
2} st

=9 Y7159 Hul= (2 97159 #1)- (32 97159 #3)
olmg

V= (nrx52%xh)-(7x3%xh)

= 167h = 64x(cm?) " h =4(cm)
2ylol= (2 97159 @‘a’ﬁol) + (&2 97159 dHel) +

(2 99 Wol) - (2L 9] Hol) x2 0|82

S = (10mx 4) + (6 x 4) + { (257 — 9n) x 2}
= 401 + 24n + 3271
= 967(cm?)




@ 48rcm? @ 44mem? @ 36mcm®

@ 32mcm? ®)28rcm?

= 327 — 47 = 287 (cm?)




L

o

B
[

>
> EE D 184cm?

I

2{(8x4)+ (4x6)}+2x{(8x6) - (6x2)} =112+72 =184




4cm
1

/

4
> &Y 427cm?

(B¥lol) = (FWel) x 2+ (ZWel)
=(rx3%)x2+2rx3x4
= 187 4 247 = 427 (cm?)




27159 2Hol7} 12rem? olek. of wf of
7)%59] g0l g Tateler, \\

o rok

i1 oo

16x( cm?) o]t
wbA] ZE o] = 2x16n+-8xr = 1127(cm?) ©]E &, x = 10(cm)

olct,

7159 gdulol= (2rx4) x x = 8xn(em?) , BhHol&= rx4? =




tel 1913 Az=

S

sazo
fofe

S

KX
=

/

Rag T

= 2

ol 3
01 %

~5cm”

| 7

4057 cm®

4057 (cm?)

1) = (mx 72 x 9) - (7 x 22 x 9)




